Chevy Big Block Alternator Bracket - Long Water Pump

Attach to back side of
SUM-420102 alternator, with One 5/16

D_—— Shoulder bolt, place 3/8 x

5/8 washer between alt.
And rod end

Alternator /

1 6/8" Adjustment
Rod with rod
ends

Hole in upper left
passenger side head

One 3/8 16 x 1"
SHCS, Attach to front
side of water pump

3.250"
Spacer

)
\

Use One 7/16 14 x 6" SHCS, or 3/8 16 x 6"

SHCS dependant on hole size in head,

M Plus one 5/8 o.d. washer between bolt
head and alt. bracket if using 3/8" bolt

Head

Alternator
Lower Mount

Two 3/8 16 x 3/4"
Alternator Bracket SHCS

Use Locktite on all bolts



